
HRADIŠTĚ C, DÚ08b, 26.10.2018, 

Taktika obtížnější 

 

 

1.příklad     Černý na tahu (pš x242) 
XABCDEFGHY 
8-+-wQ-+-+( 
7+-+-+-zpk' 
6-+-+N+-sn& 
5+-zpPwq-+-% 
4p+P+-+-+$ 
3zPr+-+-+-# 
2-+-+r+PzP" 
1+-+R+-tRK! 
xabcdefghy 

? 

 

 

 

 

 

 

 

3.příklad     Černý na tahu (pš 1/11) 
XABCDEFGHY 
8-+-+-trk+( 
7+-+-+pzpp' 
6-+-+-+-+& 
5+-+-+-+-% 
4-+-+-+-+$ 
3+-+-zPQ+-# 
2r+q+-zPPzP" 
1tRR+-+-mK-! 
xabcdefghy 

? 
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2.příklad     Černý na tahu (pš x008) 
XABCDEFGHY 
8-+r+-tr-mk( 
7+-+-tR-zpp' 
6-+PwQ-+-+& 
5+-+-+pwq-% 
4-+-+-+-+$ 
3+-+-zPP+-# 
2-+-+-+PzP" 
1+-+R+-mK-! 
xabcdefghy 

Černý zahrál 1...Vxc6, jak odpověděl bílý? 

 

 

 

 

 

 

 

4.příklad     Bílý na tahu (pš x015) 
XABCDEFGHY 
8-mk-+-+-+( 
7zppzp-+-wqp' 
6-+-zp-+p+& 
5+-+-zp-vL-% 
4-+P+p+-+$ 
3+P+-+-wQ-# 
2n+-+r+PzP" 
1+-+-+R+K! 
xabcdefghy 

? 

 

 

 


